KO
b=
10

R

OF

K

Ak2E

O A
T

BP(Best Practice):

cH

3)
=
=

S7H'213 435 > '22'4 56
Mg S8t AR Hol U 23 s

’ls

AAME EE

oK

<
od

=X

O

X% 240

0l 82H

M
=

Alg J1E)

=

=5

AN
e

=

Ha

012l AB3% (K=

o 018

g
o

i

* F2LF19 O™ ChH|

(1951 67402 — ‘2011 194RKY — 2141 248BIRY /K] ORI

I
ot

<+

-t

foll
Ll
fol

o

o[

a7 3

o~
ot

’l=| ®Sol| o

* 21 22k

o4

ANE

2 9 =8y

F

ol

O 2K

ol

2]
K4
K+

Ip

A

o

bs |l

Ab HoPls

2
[S)

Atz S O

ShE
=0

= AAR Do

2



H52~9%)

o=

=

o L-O

T2 202 MA

i
Klo

Ka
od

HXIEAL 2] =

Q4 mz=T2

of 2T T =3 ERISE 2AI(8x

o OA
1T

x| Xt

Al S
© =20
—gAld &

rh

2l

7

Li5)
o|E

(

% Ha

©)

joil

ol

¥

—

o
o

)oll CH

=

(s}

25X

k=)

D273 ML

Kt2 (X1,

=k

S|
o

Azl Holg X1

A=A
o

AOIE L “KYWAOIO)

=

3 VR 2 A (GBLWEOD_desl

-KYWAOP0|E- Q&A AHIA|

|

-

(o]
—

[RI

2719104

ruRSoE STy
e 2

Iy




| ot |
A KYWAOHrOI ZEIXH ZARR 112148 2t
- ABOPIS S FAAE NP JHE 22| O, Lol B X O|HUZ FH Ol Ik
3 | FziMat
O A &) R-aE 28 =203 B 8 B8 MEtiH| 39t
o (&=z) LIt LTz dEn) FHojg HECH| 121% 37p= [z
2 100% E4(213~22E 2™ Tadsisk 213 338 -'221 73X) 0|2
Olof TSI Hg Z2 =0 did Ha* FUECHH| 30.2% 37t
* 21 435(SQAF FHIX 405 E-book 3%)— ‘22U S6E(EWA ZEIX gl S=X|Z 56X)
o (EZ) IR 99&9°| HEZ IE=z =g E3J0] ThlldiE B34 FE 57
CHH|* M A1} oS
* 21 HIZATK102~128 7|1F): 537 7|2 0|8, Q4am=za B 668
o (MYXR) 2214 4% KYWAOPIO|E O} CiAl "8 HME" gl "
2 SME" S AYMEL LME(TR 70.87)
X MRS Ha: OPIO|HE 53t €2 M8El-FH((75.0%), +us| SM(72.58) 5
O BAZ) 22252 S Pt HioFss A% X|=X-2s700H 2
2o CHot QX[ Z e 29 8 HAESE 2ol 7|0
DY RLBF FHOI H ZOIR~OEHHAL BIES O L2 + QIG0IR~
MZ2 NS BB BHATS0H CPPL= 220 212 ZIMfE E2IL/CH”
-KYWAOPIO|E &EF4& ZEIX(DIEHIA VR FIAZ)) B &
4 | M} stchytot
o ZHIX HZo| &H.- AN JHMZ et M XA L=t & FAME J|SHM
oz 24 mzdl S=ZAtd LiAR M0




